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DAMA cut (LaBr3 511 keV full peak)

(PMT 1 only)
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DAMA cut

(LaBr3 511 keV full peak)

(PMT 1 only)
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Charge asym. vs DAMA cut (PMT1 only) (LaBr3 511 keV full peak)
(PMT 1 only) S
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Charge asym. vs DAMA cut (PMT1 only) (LaBr3 511 keV full peak)
e ——— S

E E
o — = -
5 T 1~l.5 keV 7 ' . 1.5~2.0 keV
g L o s [ -
E | LT F@ L . .
£ r w oL
S 05— S 05—
0— o
-0.5— -0.5—
C - | [ S AN NN NN NN MR AN SN SN SN MU S S SN S S
-1 -0.5 0 0.5 1
pmiti1.x1-pmt11.x2
E £
A | o 11— et
g r g L «15~2.0 keV
E | E e .
a = o
s I Ero
17 g L
Fal —
g 0.5_ %“ 0.5—
0— o0—
-0.5— _0.5—
- _1__
|_|2| L1 |_1|I5| 11 |_|1| L1 |_D|.5| L1 1 é 111 |0|5| 111 # 111 |1 |5| 11 2' 1 |-|2| L |-1|I5| L |-|1 Ll |_[}|I5| L é L |0I|5| L L L1 |1.|5| )

(pmit1 1.nx1-pﬁ111 1 .nx2+pmt12.n>&1 -pmi12.nx2) (pmit11.nxd-pmt1 1.nx2-+pmt 2.nx1-pmii 2.nx2)



gc vs nc

(LaBr3 511 keV full peak)
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qc / nc (LaBr3 511 keV full peak)
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qc / nc vs DAMA cut (LaBr3 511 keV full peak)
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nmt500 (LaBr3 511 keV full peak)
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nmt500 vs DAMA cut (LaBr3 511 keV full peak)
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